B.Com. DEGREE EXAMINATION, MARCH 2011.

(1201)

{Examination at the end of First Year)

Part [I — BUSINESS ECONOMICS

Time : Two and a half hours

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following questions.

Economic and non economic activities.

e38¥ 508050 esfiss S EgETIeD.
(S &

Exceptions to the law of demand.

&55r0& @8 odStanodHen.

Internal Economics.

&aoéégé‘é £5T°80,

Selling costs.

@éJégi’.g) béQ‘SJ‘en.

Privatisation.

R ECEY

Cardinal utility - ordinal utility.

SPRS PBreHIN - DS PAreEdtw.

Law of supply.

Saby o EbHw.

Price rigidity.

SSe éq)déépg:}w.

AJISIDAIU[) BUYSLY

Maximum : 70 marks



10.

11.

12.

13.

14.

1a.

16.

SECTION B — (5 x 10 = 50 marks)
Answer any ONE of the following question from each Unit.

UNIT 1
Critically examine “the law of Equi-marginal utility.

SR 208 (SABT2D AIER) JGT FrEgEHvT 65O0DB.

Or

~ Explain the “law of diminishing marginal utility” and its importance.

5" r08 [5SBred JomBhn 8050 R @ringrgR) 99808,

UNIT II

Explain various methods to measure price elasticity of demand.

8 &57°08 T35 R Fevsntn Ko 2D SEhreisy 580D,

Or

Explain the law of variable proportions with help of suitable diagram.
DO R0 J(EeRy B Seo IP0HDH0D0 dBBoHH0.
UNIT 111

(a) What are the determinates of demand.
&iro&R0 DYoo SOTBD?

(b) Why demand curve slope down words.

&3m0k B o0& EodE Trendod.

Explain various short run costs.

DG JgenseOL Sgirre D580

UNIT IV

Explain the short run equilibrium of a firm under perfect competition.

ROTY 2963 557°8),¢56" Kgeyeod” Moy SHdersRy d9B0YH.

Or

What are the features of monopoly? Explain the price determination in monopoly.

DERrcRs 570 85 0BerBD? DEFH0ST 8 DBASTY) DHBodHHW.
[0 X0y RPN ]

2 (1201)

»

AJIsI0ATU [‘]}HIIS[.I)I



18.

UNIT V

Define the term ‘national income’. Explain various methods to compute national income.

EPBOST TSRy DUSDODIN. ESATTA KEadE Ko D SEBes DIBOLIN.

AJISIDAIU[) BUYSLY

Or

What are the phases of trade cycles? Suggest some measures to control trade cycles.

TS J(5TeSD $EBD? TG JT0R0 AAHO@oSERE 7R Murdden BainmHuw.
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B.Com. DEGREE EXAMINATION, MARCH 2011.
(Examination at the end of First Year)

Part II — INDIAN TAX SYSTEM AND INCOME TAX LAW

AJISIDAIU[) BUYSLY

Time : Two and a half hours _ - Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following questions.

1. Income.
e3TPAIIRN0Y.

2. Assessee.
&9’;02)0.

3. Capital receipts.
DR BRI,
4. Allowances.
gomgen (s0dden). \

5. Annual Value.

05 Dewd.

8. Speculative Business.
BIOWRT® Tg=Bai0.

7.  Casual Incomes.
A5y E emeoiTeen.

8.  Any five exempted Incomes.

DR 08 DFTF0N0 ToBD eTasIeD,



10.

11.

SECTION B — (5 x 10 = 50 marks)
Answer any ONE question from each Unit.
UNITI

Discuss the objectives of taxation in detail.

939) DO RAENY éaé%?séne)m RDDBTI0M H8)0BBW.

Or
Explain (a) Tax Avoidance, (b) Tax Evasion (¢} Tax Planning.

25Bodod -
{a) D8y E.J‘(}Séé éﬁ)a)omgm}ﬁ)eo
(b) iy dKs0Bn

{c)  I%y) (Desos.

UNIT 11

AJISIDAIU[) BUYSLY

Mr. Anand Kishore had the following incomes during the previous year ended

31st March. 2010 you are required to compute his total income if his residential status is

(a) Ordinarily resident
(b)  Not ordinarily resident and
(¢) Non-resident.

(1)  Salary received in India Rs. 3,20,000 (for 10 Months).

(it} Rs. 1,50,000 is the profit of a business in Burma, the business is controlled from

India.

(ii1) Income accrued in South Africa but received in India is Rs. 1,80,000.

(iv) Interest on Savings in Save More Bank Ltd., Rs. 40,000.

(v) Rs.1,00,000 earned in India but received in London.
(vi) Income from House property in India Rs. 1,00,000.

(vii) Income from House property in Bangladesh Rs. 60,000.
2
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12.

13.

31 578y, 2010 & eﬂoé:»dﬁoé 78 DOHEBRLRL 3, e508 8265 BwE); eTraHBn Fe (Z08 HEDVMT Soth. 9B

DT B

b

(a) ardes D0

(b)  argrties Darm 500 HoBsD

(€)  Drd e ©ondS BB INSHN eTann B 0N,
(1) 2rs6tEnns® 2ol dnw . 3,20,000 (10 Hr0hweH)
(i) groadeans® daboealio 20" TR B ood ergin 8. 1,50,000.
(i) & e3D5°6° HoDB0dD FrEEDENNS’ ol esTrabnw 8. 1,80,000.
(iv) 253578 emgoty OMBE ergots Eardeyp B HG 6. 40,000.
(V)  roBdEnd® Doad0, 00GSES” ol erraiynn 8. 1,00,000.
(vi)  grosdsnnd” iy eipe Mod emasba 8. 1,00,000.

(vii) a)orga%‘esﬁzs My &sggmoé eszoIn0 By, 60,000.

Or
What is agricultural income and how is it treated for tax purposes?

DDAV ST AHHN HTHN? D08y 6 eTRODHVR SaHY Dby DeHNGE® I DB IBKBoDSH?
2588 BAAHBETBW.

UNIT III

Sir M.M. Joshi is working in a limited company in Varanasi (Population 12,12,000). His
salary particulars are:- Basic Pay Rs.10,000 p.m; D.A. Rs.2,000 p.m; C.C.A. Rs.1,000 p.m;
Children education allowance Rs.600 p.m for child for 3 children; H.R.A. Rs.4,000 p.m; (rent
paid is Rs.3,500 p.m) Entertainment allowance Rs.1,500 p.m during the previous year in the
last three months rent free accommeodation is provided in its own building instead of H.R.A.
compute the gross income from salary for the current assessment year.

3 0H5.0H5. EH TETRS® (wwegr 12,12,000) 28 OBE L00dS® 45°R Bng), 2H6H0 (3 DIRD0BH
(&7e. &%) Horve DEdHL S 10,000 ; &5y g5dgha0 8. 2,000 ; HK8 SO g0 g, 1,000 ; Hozornd g,
Sgan (96 20TE2 (8 ATHHLHH 600 TP B0HED Heed a0 B FEFHw K. 4,000 ; [H8 HHHVDH
Tbg_?oﬁ}é @Q 8. 3,500 ; 28°% Eﬁééém gr. 1,500 Aé DodEndnmn Roth D98 2T HrERneld wodd &Dg
FHLVDHLD e RSB HIBD B Bod FHEH00S" Domyen BB, [Hud DRy e lel BoBEYTmDE BesHn Are
esTPCHRL BE)0Pdw.
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14.  Sir Vijay Vardhan is owing two houses and from the following particulars, compute income

s

from house property. 2

House -1 House — 11 g

Municipal Rental Value 1,25,000 1,50,000 §

Rent of Similar building 2,75,000  2,10,000 g
‘Standard rent 2,00,000 2,40,000
Actual rental value | 1,80,000 2,25,000
Municipal Taxes 18,750 22,000
Interest on loan taken to construct the house 50,000 14,000

3 desa :sgsgg 2 Fg0% AyTrdonen So). 800 0Dy dH8Ewe ook .f‘b‘:}‘s?g H0é esTroDHVD BE);0HH0.

msn —1 mosw - 11

DS S0 ©Y Jeud i,25,ooo 1,50,000

RB00BIID ¢ Devd 2,75,000  2,10,000

TR 6 Devid 2,00,000 2,40,000

ToRDN @E’ Dend 1,80,000 2,25,000

Dr0E JoRY Dhyes 18,750 22,000

My DOZEatnRE Sro%y epd 56 50,000 14,000
UNIT IV

15. During the previous year relevant to te current assessment year. Smt. Sati Savitri sold the
following assets. Income from other sources is Rs.7,50,000. Compute Tax liability for the
current assessment year.

Shares Debentures  Jewellery

Date of Purchase 15-5-1987 - 18-4-1978  16-7-1979
Date of Sale 25-6-2009 25-6-2009  25.6.2009

- Cost of Acquisition 2,80,000 75,000 2,10,000
Sale Price 13,50,000 2,20,000  15,26,000
Selling Expenses . 0.5% 0.5% 1%
Fair Market Value_ — 80,000 —

Shares are listed in stock exchange but debentures are unlisted. Cost inflation index
1987-88 =150, 2009-10 = 632.

4 (1602)



(PR0% DAy D%"(’S&'a ﬁo:)é‘\)o‘&’)g Bo20odD N éoééfg\)éﬁness B0 SE>IB HIOD BHDD 7BY S Dok
esTeaio 8oe. 7,50,000 [0é Hay 50%‘(58’; RoNEnTRE ey ey 88,0004,

D800 T8I0 &8 0D esgi&eaen
o'y 88 1551987 - 1841978 1671979
edyED B8 2562009 2562009  25.6.2009
Qe HyobEn 2,80,000 75,000 2,10,000
BRED 656 _ 13,50,000 2,20,000 15,286,000
e e 0.5% 0.5% 1%
DS00aTAD 3735 Dend 80,000

Teren 8 I§jof eramrs’ sop s GBoBY) wrunrS” Bod. I IS Ay oy 1987-88 =150; 2009-
10 =632.

Or

X is a Lawyer, who maintains books of accounts on cash basis, furnishes the following
particulars of his income for the previous year ending 315t March 2010. Receipts and
payments Account for the year ending March 31, 2010.

Receipts Rs. Payments Rs.
To Balance b/d 1,000 By Purchase of Typewriter 7,000
To Pre fees from Clients By Car Expenses 8,000
2009-2010 30,000 By Office Expenses - 7,000
2008-2009 3,000 By Salary to Staff 18,000
2007-2008 10,000 By Interest on Loan 1,000
By Income Tax Penalty . 2,000
To Pre Rents from Clients 4,000 By Contributibn to PPF 2,000
) By Balance c¢/d ‘11,000

To Loan from a client 8000

(For Profession) A

56,000 56,000

Notes :
(a) Depreciation on typewriter is 15% p.a.
(b) 20% of Car expenses are attributable towards use of car for personal purposes.

(¢) Depreciation of car is Rs. 3,000. Compute the income from profession of X for the AY.

2010-11.
5 (1602)
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Loy

X e erdih HI5em O 5EaS” drant 2rg) 31, 2010 & wosdly K SodHoRs @Bd e;ezydb::.
5Tren 1808 dGore &aman. 31.03.2010 &° 080035 SoIETE iy Do grer 1508 dEore &B. ;
Sardy 20080 3doHen Booso %
To Bays Doy 1,000 By £9 306 Softe 7,000 %
Zoey Bood e 5280 e 8,000
2009-2010 30,000  esddo pipen 7,000
2008-2009 3,000 . Dupohs doren 18,000
2007-2008 10,000  eweop 3G 1,000
| esTPaHR) $:Y) BRI 2,000
Zowods ol & 4,000 2.2.009 0% Hoo 2,000
By deg 11,000
3000065 $00d 205B0 8000
()8 §°65)
56,000 56,000

S%5

(a) 85 peod Bi0Ee 15 wHo (Ho. &).

[

(b) s a)doaeéf 20 &0 HENEm08 JowoPoadd.

(c) st BEIOEe 3000 G008, B 2010-11 Sidy JTEE VodHTRE BY 0508,
UNITV
Mr. Sahadev submitted the following particulars of his Income comment on the nature of
income and calculate the income from other sources :
(a) Dividends received from X company limited Rs. 19,500.
(b) Royalty from books Rs. 20,000 and the cost of preparing the manuscﬁpt Rs. 3,100.
(c) Interim dividends received from Y company limited Rs. 8,000.
(d) Rent from agricultural land Rs. 50,000.
(e} Rent from open land Rs. 45,000 and municipal tax paid on that is Rs. 12,000.
(f) Rent from building Rs. 36,000; municipal tax paid Rs. 3,600; repairs Rs. 800.
2 DT GE), eseroly DHG0en SKIS @@oﬁ)@o‘b@_:ﬁﬁ. (28 emrain BwE), STy TRgRyRed ABs
SHe ok eordhnn B8 0mHn.

(a) X 5000 2088 Hod d5EBods dazod 8. 19,500.
(b)  HREI0e Ho0d trab 8. 20,000 53800y [$SBYSENOD BoSTEHDALE $iabIw 8. 3,100.
(€) Y 500b S0BE Hod 588003 Dog5sdE Gatod 6. 8,000.
6 (1602)
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(d)
(e)

(f) a5 Hood &9% &=, 36,000, 3920-3)26 DB Sozuhn Dyen &= 3,600 méﬁ)&é:)oeu &=, 8000.

HyaoRralh &Bne Sood JgEBodd e 1. 50,000.

50 25780 008 BgEBoD & &I, 45,000 DB TrEp Yo HEFOE BooHn Hixges & 12,000.

Or

AJISIDAIU[) BUYSLY

The following details are submitted by Sir Gopi Chand. Calculate tax liability for the
assessment year 2010-2011

(a)
(b)
(¢)
(d)
(e)

()
(g)

BIOD DOY0 e 2H8HMen § Rad0dE Sooafoddd.

Salary Income

Income from house property

Business loss

Short term capital gain

Long term capital gain on sale of shares
on which security transfer tax is paid
Income from other sources

Deduction u/s 80

B, 0m0.

(a)
(b)
(c)
(d)
(e)

(f)
(g)

B0 H00d estrainB
Kq):ﬁf’o B0 estraiD
@
TS50 R0k Hghdo
5508 Depesd ergisn
&qgs“é’)é Depwd ovglin
(RmBle SIS By DosunEi0)
ABHE DGO DO STPOHDL

5 80 (S50 BRoHen

- Rs. 2,60,000
- Rs. 1,40,000
- Rs. 1,00,000
- Rs. 30,000

- Rs. 50,000
- Rs. 20,000

- Rs. 32,000.

2010-2011 53y ATEes DoSBTHE [y wreiEss

— & 2,860,000
— 4. 1,40,000
- &~ 1,00,000

- g 30,000

— gr=. 50,000
- g 20,000

- . 32,000.

(1602)
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B.Com. DEGREE EXAMINATION, MARCH 2011.

(Examination at the end of First Year)

AJISIDATU) BUYSLTY

Part Il — CENTRAL SALES TAX AND A.P. VALUE ADDED TAX
Time : Two and a Half hours Maximum : 70 marks
SECTION A — (4 x 5= 20 marks)
Answer any FOUR of the following questions.

L Dealer under CST.

Boygs e SRy dyos® deob.
2. Sale under CST.

Bols ey SRy Bod® edylo edr.
3.  Turnover under CST.

Bos e Dy Byos’ wEHRE.
4. Declared goods under CST.

o D Hoy DyoS® S8 & Supeo.
5. Business under VAT.

Dend 3B SHQeS® Igto edrr.
6.  Turnover Tax under VAT.

Dend Bt By Beg0S® wELHE Iy,
7.  Input Tax under VAT.

Dend BB 5y 940" oy Shy.
8.  Place of Business under VAT.

Dend esgrBB SRy) HOS® HBE Josw.

SECTION B — (5 x 10 = 50 marks)

Answer any ONE question from each unit.
UNITI
9. Explain objectives and features of Central Sales Tax Act, 1956.

Bos esn¥ HRy) By, 1956 Book), aiFge0 2B oferres 238oBod.

Or
10. What is VAT? Explain its significance and features.

Deusd expeBB Dy BIM B20? TR Bk, [P0 B0 oFFTen S8oSod.



UNIT IL
11. Explain the procedure of registration of dealers under CST.
Bos e Sy dgo 9580 &ot B335 D506 230D DETRER) BOI0E.
Or
12. Discuss various exemptions available under CST.
Foes ediylo Sy Sigo P50 es0loErend® &) DBFooHed Fraos.
UNIT IIL

13. The gross turnover of a registered dealer is Rs. 20,00,000. From the following information
compute his Taxable Turnover under CST Act. '

Rs.

(a) Sale price of Exempted Goods 4,00,000

() Export from India 3,00,000

(@ Sale within State 4,00,000
(d) Goods returned under

X 50,000

interstate trade
(e) Rate of Tax on interstate trade

Rs. 5,00,000 @ 10%

Rs. 3,50,000 @ 3%
The dealer has not submitted any form to the authorities.
28 B RIS SYHD B0k, Bpe 206536 &=, 2000000. B0 SErrEo eErdor Bogs exingo Sy

Hego (Bs°80 S 108 &lHd 0EHHED B 000E.

8,
) EFo0D 27083 S eByLo &8 4,00,000
) e B0 008 VBB o - ~ 3,00,000
) ogo &5 edosten | 4,00,000
@ o8B o 5gEos" Tio B Sydey | 50,000

(e_) esotsh o ég506° SayBeas
&s°. 5,00,000 @ 10%
&3~. 3,50,000 @ 3%

S 20508 Prore Sy @5 B8 $208)0d B

Or
2 - (1603)
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14.

15.

16.

17.

Mr. ‘X' furnishes the following particulars.
(a) Sales during the year Rs. 8,00,000.
(b) Sales includes goods rejected — Rs. 50,000
(© Sales included goods returned within 6 months Rs. 25,000
(d) Sales excludes freight Rs. 5,000
(e) Salesexcludes CST Rs. 8,000
Calculate aggregate sale price.

X So089% H30°ew 1$08 G0N GIHOw.
() PoSEBos® ehysten 8. 8,00,000.

(b) edysed’ 5O &) 389,800 SydHes 8. 50,000

() otysos® 58has 6 oo 65 T B Siges &, 25,000

() edysed® 055Pan0dd P& 8. 5,000
(€) @dys e 08 WII00DH B ebysy SRy 8. 8,000

Sre BEYD B0 B8),0d08&.
| UNIT IV
Explain different VAT rates.
2D Dend BErdd Dy BLw 38oBE.

Or

Write interstate trade and commerce. .

©0B5 Togre HBEDL 080k Tredago 8o Erosood.

_ UNITV
From the following particulars calculate Tax Credit on input/ supplies.
Particulars Amount Rs. Rate of Tax
%
Input
Wood 1,00,000 2%
Ply 2,00,000 2%
3%
Wooden Board  2,00,000 4%
Mica 2,00,000
Output ’
P 4%
4%
Chairs 5,00,000
Tables 6,00,000
3
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18.

5o 808 SarTE0 Hr08 sTETED 280D Ty BESH B 0Bl

DHoPeD Doogdo (8°) 5%y Bew
GTHESL

98 (3%,) 1,00,000 2%
i 2,00,000 2%
55 3%
3 2,00,000 4%

DS &% (24, 5°) 2,00,000
| %
&g %

HByen 5,00,000

Bewsés) 6,00,000

Or

Mr. ‘X’ purchased 6000 Kgs of inputs to his manufacturing process. He manufactured 5000
units of final product. Calculate liability of VAT/CST and find VAT credit available to dealer.

(a) Interstate sale @ Rs. 12 per unit; 2000 units.

(b) Interstate sale @ Rs. 14 per unit, 1250 units.

(¢) Goods sent on branch transfer outside the state — 1000 units.

(d) Goods sold to Govt. Dept., outside the state @ Rs. 10 per unit, 750 units.

(e) VAT rate 12.5% '

() CST rate —2%.

(g) VAT paid oninputs. Rs. 2000.

X 5 Hosrd HES® 6000 38 © &THESON £t ADoey. ebh Erosrd) DD S

5000 é@n@m e earyeB 5?6)430@5 eﬂéu)&g :)I-ﬁ)& 25"(55@3@) HoBain 5@0%5 Yol Jevd peBd :)Fﬁ)el
ngoéo&. ‘

(a) oo &S0 edysee - 2000 e ;1 212/- 59pd

() oo Sogs edysed - 1250 dardy 18 8,14/~ STRPS.

(© Tgdesde grod 288 D 50D BKHEd> = 1000 B

d) ogo Dende (S4Heg JerRS ©2RB - 750 osurded) 18 8ro-10/- TP
() Ded esrBs S5y Gewr - 12.5%

0 o ea:n&m Sy Bew - 2%

(@ &asEoR QoD Dedd egrBs Iy - 85°.2000.

4 (1603)
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13.

14.

15.

16.

UNIT IV

Define management. What are its characteristics?

DYGEPEIR DYGD0D0G. B0 VTR DB H0s.

Or

Explain the importance of planning.

Perodstes et 980308

UNITV

State the significance of organization on process.

DeARP|IERB0 |20 TR DAB0N0E.
SRaPAS & 3

Or

Centralization and decentralization.

So|R¥8es 28atn J80| A%,

4 (1203)

(1203)
B.Com. DEGREE EXAMINATION, MARCH 2011.
{Examination at the end of First Year)

Part II — BUSINESS ORGANIZATION AND
MANAGEMENT

Time : Two and a half I}ours Maximum : 70 marks
| SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.
1.  Functions of Business.

U"?Sévdﬁn S&oew,

2. Joint Hindu Family Firm.

DY IPOBT® Kre308) Tg0.

3.  Partnership Deed.

a,j"r‘ﬂﬁvog;’né 2ua)OLS5.

4. Articles of Association,

DADRDTHD.

AJISI2ATU() BUYSLLY



Krishna Universia' o
Types of Organization.

ééége)e?ﬁ gseen.

6.  Features of Responsibility.

amﬁéé o,

SECTION B — (5 x 10 = 50 marks)
Answer ONE question from each Unit.
Each question carries 10 marks.
UNIT I

7.  Define industry. State the broad classification of
industry.

SBESRY DYGD0N0E. SOENESTD dswry H80

Fro%0s.

Or

8.  Discuss the classification of entrepreneurs.

RO :aggcseam D%B5803508.

2 (1203)

10.

11.

12.

UNIT I
Mention the merits and demerits of a sole trader.

2708 ToGIBD v, PO 2BEBOB0E.

Or

Discuss various types of partners.

FHS" 85eek) 9580%06.

UNIT 11I

Distinguish between a private and a publié

company.

B0 00010 S8 LoD Rods Boren Eranod.

Or

What is memorandum of Association? What are its
contents?

POPBD  DPo  WRTRN?  @oSD  wowedn

2580550

3 (1203)
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13.

(a)

(b)

(a)

(b)

What are the features of master slide? How
ean you create master slide in a
presentation?

g8 Howé dwy; eferen deyod? Hrgh
Han&Ro Jer Jpet’ Erabod.

Or

What is a database? Write the steps to create
a new database.

Gerde eNT D7 578 Gerdsn 2 rdreBod
;’agém DHBoBHOG.

What is internet? Describe some application
of internet?

10608265 odTAD?  moesbeS B,
ESBIHBLE 80D DBBOHHD.

Or

Describe the online job market and

employment placement.
ey M0°B);¢5 0Bk &8°YIeH e BB
T BIETHTY) DHB0HIW.

4 (1204)

(1204)
B.Com. DEGREE EXAMINATION, MARCH 2011.
{Fxamination at the end of First Year)

Part II — FUNDAMENTALS OF INFORMATION
TECHNOLOGY

Time : Two and a half hours Maximum : 70 marks
SECTION A — (5 x 4 = 20 marks)
Answer any FIVE of the following questions.
| Each question carries 4 marks.

1. Write about windows explorer.
DGR 5B HB0D Erakod.

~ 2. What are the characteristics of computer?

Sogrgb BwE); egmdney Erabod.

3.  Write short notes on windows operating system?

D0&D es58e3ofi Do HBod Erakod.

4, What is the difference between Header and
Footer?

2656 9980 e 93855 Ko Beresn D980

AJISISATU[] BUYSLIY
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Explain the features of MS Excel.

| M.S. I5)S qws, (I 55805080,

What is the difference between save and save as?

29 HoBaiw bS5 oird B¢ Mo Brron 2HB0HB®.

Write the steps required for formatting slides in a
presentation.

SBoENS &° DER FoPs Dow DErRHO HERM
Er0%0G.

What is meant by voice mail?
TPO0R NS DT D7
SECTION B — (5 x 10 = 50 marks)
Answer the following questions.
- Each question carries 10 marks.

{a) What are the different characteristics and

limitations of computer?

§oi{§)‘°§w5 g, ooy 208akw 38BN .

[Erof06.

Or
2 (1204)

10.

11.

(b)

(a)

{b)

(a)

(b)

Explain logical organization of a digital
computer? And what are the different
applications of computer?

GBed Sogrgd SBokw DEsHN 25BoYHH.
DD BEHODD §oﬁ’.qy°5e,35 B3R HHBOYH.
Explain various functlons and types of the
operating system.

es550e3oR roggo @of);, DS BEBwew HoBaiw
(BB 2560HD.

Or
Explain External commands in DOS.
DOS &° eirgs $3r0Gei 2580006,
Explain the procedure to perform mail-merge
in MS-Word.
MS-Word &° @_5 Z‘bg R &’)m"a"@.ﬁ’)‘bﬁo{)o&.

Or

What is a function? Explain about built-in
functions in Excel.

POYES @ImI? IS S 4y 206 BEB0BD
DG A HOFOR ST IEe8” Bk
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B.Com. DEGREE EXAMINATION, MARCH 2011.
{Examination at the end of First Year)
Part II — MARKETING COMMUNICATION (V)

Time : Two and half an hour Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following.

1. Promotional mix.
2. Public relations.
3. Advertising,

4. Noise.

5. Communication.

6. Push and Pull strategy. q up) wuysuy
ISIDAL



Krishna University

SECTION B — (5 x 10 = 50 marks)

Answer any FIVE of the following selecting One from

10.

11.

12,

13.

14.

each Unit.
UNITI

What is communication? Explain its need and
importance in marketing.

Discuss the process of marketing communication. '
UNIT II
Explain the marketing communication mix.

Discuss the nature and

communication.

objectives  of

UNIT III .

What are the different ways of marketing

communication?

What is personal selling? How far is it an effective
tool of marketing communication?

UNIT IV

Compare and contrast personal selling and
advertising.

What is sales promotion? Explain its significance.

2 ©(1604)

15.

16.

UNITV

Explain the reasons for the growth of Integrated
Communication.

Discuss the role of direct marketing in Integrated
Communication.

3 (1604)
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B.Com. DEGREE EXAMINATION, MARCH 2011.
{(Examination at the end of First Year)
Part I — ADVERTISING -1
Time : Two and half an hour Maximum : 70 marks
SECTION A — (4 x 5 = 20 marks)
Answer any FOUR of the fc;llowing. _

Importance of advertising.
Selective demand advertising.
Advertisement Copy.

Co- operative advertising.

Advertising Budget.

2 o

Ethics in advertising,

SECTION B — (5 x 10 = 50 marks)

Answer FIVE of the following questions, selecting
ONE question from each Unit.

UNIT I
7. Is Advertising a waste? Discuss.
8. Explain the role of advertising in the modern

business world.

10,

11.

12

13,

14.

15.

16.

UNIT 1L
Explain briefly the different kinds of advertising.

What is commercial advertising? What are the
various forms of commercial advertising?

UNIT 1II

Define advertising. Discuss the objectives of
advertising.

What are the problems in setting advertising

. objectives?

UNIT IV

What is advertising budget? Explain the process of
preparing advertiging budget.

What are the approaches to setting advertising
objectives?

UNIT V

What is advertising copy? What are the merits and

" demerits of print copy?

What is advertising message? How can it be
effectively communicated to the consumers?

2 (1605)
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